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cla Ky K> m 7, S (') e
Al, Cu
Au, Ni fcc {111} {111} (112 (112) 0.707 41.4%
Ag, -Fe

a-Fe bee {1122 (7112}  (111) (1112 0.707 1.4
Cd hcp 1886 (1012} {1012} (1011) (1011) 0.17 8.9
Zn hcp 1.856 {1012} {1012} (1011) (1011) 0.139 7.2
Mg hcp 1624 (1012} {1012} (1011)  (1011) 0.131 6.8
{11213 {0001}  (1126) (1120) 0.64 37.0
Zr hcp 1589 (1012} {1012} (1011) (1011)  0.167 8.7
{1121y {0001}  (1126)  (1120) 0.63 363
{1122} {1124} (1123) (2243) 022 119
Ti hep 1587 (1012} {7012} (1011) (1011) 0.6/ 8.7
{1121y {0001}  (1126)  (1120) 0638 36.9
{1122} (1124}  (1123) (2243) 0225 11.9
Be hcp 1.568 {1012} { 1012 } (1011) ( 101 1) 0.199 104
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